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( A ) % (Refer to Figure 1, area 2.) The elevation of the Chesapeake Regional Airport
is" (4r®AD3_Figl)
(A)20 feet. (B)36 feet. (C)360 feet.
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Ficure 21.—Sectional Chart Excerpt.

B 4eAE 500014667 g6 ¥k B¢

(Cc ) 95 (Refer to Figure 4, area 3.) What is the height of the lighted obstacle
approximately 6 nautical miles southwest Savannah International?" (-]
Ab3_Figd)

(A)823 feet MSL. (B)"1,013 feet MSL." (C)"1, 403 feet MSL."
%EE] ]g] . ' EZEL T =

B 448 50:0014668 gl .7 ¥k R 0¥

(B ) 56 (Refer to Figure 4, area 3.) The top of the group obstruction approximately 11

nautical miles from the Savannah VORTAC on the 340° radial is"(4-m®Ab3_Figd)
(A)400 feet AGL. (B)455 feet MSL. (C)432 feet MSL.
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S

F 4o %855:0014669 4g e ] ¥ s R ¢
(¢ ) 57 (Refer to Figure 10, illustration 1.) Determine the magnetic bearing TO the
station. " (4-BA53 Figl0)
(A)030° (B)180° (C)210°

AP B

F 4o %855:0014670 4E 22 ¥ b R ¢
(C ) 98 (Refer to Figure 10, illustration 2.) What magnetic bearing should the pilot
use to fly TO the station?" (4-m®Ab3_Figl0)
(A)010° (B)145° (C)190°

SN

4o %855:0014671 4203 ¥k R
(C ) 59 (Refer to Figure 10, illustration 2.) Determine the approximate heading to
intercept the 180° bearing TO the station." (4-B®A53_Figl0)
(A)040° (B)160° (C)220°

S

B 4-3850:0014672 g4 gk R P
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(B ) 60 (Refer to Figure 10, illustration 3.) What is the magnetic bearing FROM the
station?" (4-®A53_Figl0)
(A)025° (B)115° (C)295°

AP B

R4o82%50:0014673 fpe ] ¥r RV
(B ) 61 (Refer to Figure 6, area 7.) The airspace overlying McKinney (TKI) is controlled
from the surface to(4-®Ab53_Figh)
(A)700 feet AGL. (B)"2,900 feet MSL." (C)"2,500 feet MSL."

P B

B 4-3850:0014674 fg ] 2k R P

( ¢ ) 62 (Refer to Figure 13, point 1) The floor of the Class E airspace above Georgettown
Airport (Q61) is at" (4-BAB3_Figld)
(A)the surface. (B)700 feet AGL. (C)"3, 823 feet MSL."
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(C ) 63 (Refer to Figure 13, point 6) Mosier Airport is"(4-®A53 Figl3)
(A)an airport restricted to use by private and recreational pilots. (B)a
restricted military stage field within restricted airspace. (C)a nonpublic use

airport.
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4o 82%50:0014676 da e ] E BV
( A ) 64 (Refer to Figure 15.) If the wind is as shown by the landing direction indicator,
the pilot should land on" (4-® A3 Figlh)

(A)Runway 18 and expect a crosswind from the right. (B)Runway 22 directly into
the wind. (C)Runway 36 and expect a crosswind from the right.

S

448 55:0014677 fR e 2 ¥k R ¢
( ¢ ) 65 (Refer to Figure 15.) The arrows that appear on the end of the north/south runway
indicate that the area(4-®A53_Figlh)
(AM)may be used only for taxiing. (B)"is usable for taxiing, takeoff, and

landing." (C)"cannot be used for landing, but may be used for taxiing and
takeoff."
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(B ) 66 (Refer to Figure 19) Which sign indicates the runway on which the aircraft is
lacated?(4-®A53_Figl9)
(ME (B)F (OL

oW

F 4o %855:0014679 422 ¥ b R P
(B ) 67 (Refer to Figure 19. ) That portion of the runway identified by the letter A may
be used for(4-®Ab3 Figl9)
(A)landing. (B)taxiing and takeoff. (C)taxiing and landing.

SN

J b 385: 0014680 4g e 1 5 R ¥
(B ) 68 (Refer to Figure 19) Which marking indicates a vehicle lane?(4-®BA53_Figl9)
(MDA (B)C (OF
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(C ) 69 (Refer to Figure 19) Which symbol indicates a taxiway/taxiway intersection hold
position marking?(4-®A53_Figl9)
(B (B)D (CE

SR

4 4850:0014682 25w 0 ¥ % B 4
(A ) 70 "During VFR navigation without radio instruments, heading and groundspeed, as
calculated by dead reconing, should be constantly monitored and corrected by
(A)pilotage as observed from checkpoints. (B)the wind tringle. (C)wet compass
and the groundspeed indicator.

4o 82%.:0014683 A0 2% B %
(A ) 7l "For cross-country flights over land, navigation without radio instruments is
usually accomplished using dead reconing and"
(A)pilotage. (B)the wind tringle. (C)conpass heading.

4o 88%5.:0014684 A w0 ¥k B %
( ¢ ) 72 Which is true concerning the blue and magenta colors used to depict airports
on Sectional Aeronautical Charts?
(A)"Airports with control towers underlying Class A, B, and C airspace are shown
in blue, Class D and E airspace are magenta." (B)"Airports with control towers
underlying Class C, D, and E airspace are shown in magenta." (C)"Airports with
control towers underlying Class B, C, D, and E airspace are shown in blue."

B4 A2 50:0014685 Age:0 ¥k &0 5
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( ¢ ) 7 Which is true concerning the colors used to depict airports on Sectional
Aeronautical Charts?
(A)"Airports with control towers underlying Class D, and E airspace are magenta. "
(B)Airports with control towers are shown in magenta. (C)Airports with control
towers are shown in blue.

4e48%.:0014686 fE w0 ¥k B %
(c ) ™ "Using pilotage, a pilot can keep from drifting too far off course by"
(A)flying the flight plan heading. (B)flight a flgiht plan. (C)referring to
selected features or checkpoints.

R4e48%.:0014687 25w .0 ¥k B %

(B ) 7 "When converting from true course to magnetic heading, a pilot should"
(A)subtract easterly variation and right wind correction angle. (B)add westerly
variation and subtract left wind correction angle. (C)subtract westerly
variation and add right wind correction angle.

B b3 50:0014688 Az e .0 2% & %
(A ) 76 Motion of the air affects the speed with which aircraft move
(Mover the Earth’s surface. (B)through the air. (C)in a turn.

F b B28:0014689 dg e 0 ¥k A %
(A ) 77 To find the distance flown in a given time. Multiply time by
(A)groundspeed. (B)indicated airspeed. (C)equivalent airspeed.

o 4o82%52:0014690 A2 w0 2% B %
(¢ ) 78 Why should you file a VFR flight plan with FSS?
(A)You are required to do so when flying beyond 25 NM from an airport. (B)To
provide traffic reports with Flight Service. (C)To provide search and rescue
in the event of an emergency.

4o 82%5.:0014691 A w0 2% B %
( ¢ ) 7™ Which is the correct traffic pattern departure procedure to use at a no controlled
airport?
(A)"Departure in any direction consistent with safety, after crossing the
airport boundary." (B)Make all turns to the left. (C)Comply with any FAA traffic
pattern established for the airport.

b A850:0014692 450 25 R0 5
( A ) 80 Entries into traffic patterns while descending create specific collision hazards
and
(A)should be avoided. (B)should be used whenever possible. (C)are illegal.

438 50:0014693 B2 w0 g5 B 4
( A ) 81 Which publication contains an explanation of airport signs and markings?

(A)Aeronautical Information Manual (AIM). (B)Advisory Circulars (AC).
(C)Advisory Facility Directory (A/FD).

B4e4250:0014694 250 sk & 5
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(A ) 8 What is the purpose for the runway hold position marking on the taxiway?
(AMHolds aircraft short of the runway. (B)Allows an aircraft permission onto
the runway. (C)Identifies area where aircraft are prohibited.

B4 4855:0014695 420 ¥4 R %
( B ) 8 Holding position signs have
(M)red inscriptions on white background. (B)white inscriptions on red background
(C)yellow inscriptions on red background.

o 4e%855:0014696 420 ¥ 5 R %
( A ) 84 Runway hold position’ marking on the taxiway
(A)identifies where aircraft hold short of the runway. (B)identifies an area
where aircraft are prohibited. (C)allows an aircraft permission onto the runway.

4o 82%.:0014697 A w0 ¥k B %
(A ) 8 "The ""taxiway ending"" marker"
(A)indicates taxiway does not continue. (B)identifies area where aircraft are

prohibited. (C)provides general taxiing direction to named taxiway.

4o 88%.:0014698 250 ¥k B %
(A ) 8 What is the purpose of No Entry sign?
(A)Identifies paved area where aircraft are prohibited from entering.
(B)Identifies area that does not continue beyond intersection. (C)Identifies
the exit boundary for the runway protected area.

B4 %855:0014699 4220 ¥ % R 2
(B ) 87 An airport’s rotating beacon operated during daylight hours often indicates
(A)there are obstructions on the airport. (B)" the ground visibility is less than
3 miles and/or the ceiling is less than 1, 000 feet." (C)the Air Traffic Control

tower 1s not in operation.

B 3850:0014700 450 25 R0 5
(C ) 8 Abelowglide slope indication from a pulsating visual approach slope indicateor
is a
(M)pulsating white light. (B)steady white light. (C)pulsating red light.
e 3850:0014701 f5 0 2% R0 5
( C ) 8 No person may operate an aircraft in formation flight

(A)over a densely populated area. (B)in Class D airspace. (C)except by prior
arrangrment with the pilot in command of each aircraft.

4o 8250:0014702 A w0 ¥k B %
( B ) 9 Which aircraft has the right-of-way over all other air traffic?

(A)A balloon. (B)An aircraft in distress. (C)An aircraft on final approach to
land.

B4e4250:0014703 A0 sk &0 5
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(B ) 91 "What action is required when two aircraft of the same category converge, but
not head-on?"
(A)The faster aircraft shall give way. (B)The aircraft on the left shall give
way. (C)Each aircraft shall give way to the right.

R4 48%.:0014704 25 e .0 ¥k B %

( A ) 92 "Except when necessary for takeoff or landing, what is the minimum safe altitude
for a pilot to operate an aircraft anywhere?"
(A)"An altitude allowing, if a power unit fails, an emergency landing without
undue hazard to persons or property on the surface." (B)"An altitude of 500 feet
above the surface and no closer than 500 feet to any person, vessel, vehicle,
or structure." (C)"An altitude of 500 feet above the highest obstacle within
a horizontal radius of 1, 000feet"

4o %855:0014705 420 ¥4 R 2
(A ) 9 "What is meant by the term ""dew point""?"
(A)The temperature at which air must be cooled to become saturated. (B)The
temperature at which condensation and evaporation are equal. (C)The temperature
which causes precipitation.

4o 82%.:0014706 A w0 2% B %
(B ) 94 "The suffix "nimbus,” used in nameing clouds, means"
(A)a cloud with extensive vertical development. (B)a rain cloud. (C)a middle
cloud containing ice pellets.

B4eA250:0014707 g0 2% R0 5
( A ) 9 One of the most dangerous features of mountain waves is the turbulent areas in
and
(A)below rotor clouds. (B)above rotor clouds. (C)below lenticular clouds.

o 4o82%5.:0014708 A0 2% B %
(C ) 9 What cloud types would indicate convective turbulence?
(A)Cirrus clouds. (B)Nimbostratus clouds. (C)Towering cumulus clouds.

4o 88%.:0014709 %220 ¥ % B %
( A ) 97 Thunderstorms reach their greatest intensity during the
(Mmature stage. (B)downdraft stage. (C)cumulus stage.

o 4e4855:0014710 f2 2.0 ¥ 5 R %
(¢ ) 98 Where does wind shear occur?
(A)Only at higher altitudes. (B)Only at lower altitudes. (C)"At all altitudes,
in all directions."

B4eA2 500014711 A0 2% &0 5
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(Cc ) 99 Filling the fuel tanks after the last flight of the day is considered a good
operating procedure because this will
(A)force any existing water to the top of the tank away from the fuel lines to
the engine. (B)prevent expansion of the fuel by eliminating airspace in the tanks
(C)prevent moisture condensation by eliminating airspace in the tanks.

4o B8%.:0014712 %820 % B %
( A )100 Most midair collision accidents occur during
(A)clear days. (B)hazy days. (C)cloudy nights.

R4 d8%.:0014713 2520 ¥k B %
( A )10l Pilots who become apprehensive for their safety for any reason should

(AM)request assistance immediately. (B)reduce their situational awareness.
(C)change their mindset.

4o 82%50:0014714 A e .0 2% B %

( A )102 "When landing behind a large aircraft, the pilot should aviod wake turbulence
by staying"
(A)above the large aircraft’ s final appraoch path and landing beyond the large
aircraft’ s touchdown point. (B)below the large aircraft’s final appraoch path
and landing before the large aircraft’ s touchdown point. (C)above the large
aircraft’ s final appraoch path and landing before the large aircraft’ s touchdown
point.

R4 88%0:0014710 A5 w0 ¥k B %
( ¢ )103 The greatest vortex strength occurs when the generating aircraft is

(A)"light, dirty, and fast." (B)"heavy, dirty, and fast." (C)"heavy, clean, and
slow. "

F4oB8%5.:0014716 A5 2.0 2% B %
( B )104 Which statement about longitude and latitude is true?
(A)Lines of longitude are parallel to the Equator. (B)Lines of longitude cross

the Equator at right angles. (C)"The 0? line of latitude and longitude passes
through Greenwich, England."
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